
 
Find a closed form: 

𝑰 = ∫
𝒙(𝒙𝟐(𝒙(𝒙(𝒙𝟐(𝟒𝒙 − 𝟐𝟎) − 𝟐𝟎) + 𝟏𝟕) − 𝟐𝟎) − 𝟐𝟎) + 𝟒

((((𝟒𝒙𝟐 + 𝟒)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟒) 𝒙𝟐 + 𝟒
𝒅𝒙

∞

−∞

 

Proposed by Srinivasa Raghava-AIRMC-India 

Solution by Obiajunwa Januarius-Nigeria 

𝑰 = ∫
𝒙(𝒙𝟐(𝒙(𝒙(𝒙𝟐(𝟒𝒙− 𝟐𝟎) − 𝟐𝟎) + 𝟏𝟕) − 𝟐𝟎) − 𝟐𝟎) + 𝟒

((((𝟒𝒙𝟐 + 𝟒)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟏𝟕)𝒙𝟐 + 𝟒)𝒙𝟐 + 𝟒
𝒅𝒙

∞

−∞

 

𝑰 = ∫ (
𝟏

𝟏 + 𝒙𝟐
−

𝟏

𝟐 − 𝟐𝒙 + 𝒙𝟐
+

𝟏

𝟐+ 𝟐𝒙 + 𝒙𝟐
−

𝟏

𝟏 − 𝟐𝒙 + 𝟐𝒙𝟐
+

𝟏

𝟏 + 𝟐𝒙 + 𝟐𝒙𝟐
)𝒅𝒙

∞

−∞

 

𝑰 = ∫ (
𝟏

𝟏 + 𝒙𝟐
−

𝟏

𝟏+ (𝒙 − 𝟏)𝟐
+

𝟏

𝟏 + (𝒙 + 𝟏)𝟐
−
𝟏

𝟐

𝟏

(𝒙 −
𝟏
𝟐)

𝟐 +
𝟏
𝟒

+
𝟏

𝟐

𝟏

(𝒙 +
𝟏
𝟐)

𝟐 +
𝟏
𝟒

)𝒅𝒙
∞

−∞

 

𝑰 = 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙) − 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙 − 𝟏) + 𝐚𝐫𝐜𝐭𝐚𝐧(𝒙 + 𝟏) − 𝐚𝐫𝐜𝐭𝐚𝐧(𝟐 (𝒙 −
𝟏

𝟐
)) + 𝐚𝐫𝐜𝐭𝐚𝐧(𝟐 (𝒙+

𝟏

𝟐
))|

∞

−∞
= 𝝅 

 

 

 

 


